Fibrous Products
Weekly Exercise 4
Due Monday, October 7, at 09.00.

1.

A material displays limit reflectivity of 0.9. A sheet of thickness 10-4 m displays reflectivity of 0.8. Compute the light-scattering coefficient and the light-absorption coefficient.

2. 

How much of a reflectivity would have a sheet of thickness 5*10-5 m of the above material? How thick of a sheet would be needed in order to achieve opacity 0.93?

3. 

A sheet of paper is made of bleached pulp. The light-absorption coefficient is small in relation to the light scattering coefficient. Then, the furnish is changed so that the fibers become half the original size. How much does the light-scattering coefficient change?

4. 

The sheet of paper is created through a filtration process. The porosity, density, thickness and pressure difference are retained, but the linear size of elements constituting the porous body changed as said in task 3. How much does the flux change?

